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Closed Book. Use your and / or Teacher Cheat Sheet. You will need your
own cheat sheet to submit with your final exam.

Round all decimal amounts to the nearest 0.01 unless otherwise
indicated (standard).
Show work, show method. Generally, just stating an answer gets zero
marks. Part marks possible

Time Limit: J O muns f\)&'/(] My e £ han mﬂ(’f
Each individual question is worth 2 marks unless othenﬂlse indicated.

It is possible to get 150% on this quiz if you try the Bonus Questions!




Everyone who wrote it got 100% or

Quiz Stats! better]
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Do question 1 or 2 but not both. If you do both the best one will be
marked.

1. Determine the measure of
length a. (3 marks)

da\‘= b+ cl—&'b'C'CDSZA
d_ a.
a = % +35 ‘Q'Lf'-?f'r_as(é.?)

CL'-L= A2 4% BZ. 9 AR cos(62)

= 440817062328 [
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q= V40817062328 Label v/
(= 6639407 ) sas « Write formulay”

6= é, é"/'c,w, ) Plug in numbers
L jﬂﬂ 12 C lew  Solve




2. Determine the measure of

side b. (3 Marks) h
o .
S v 555 -
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b= ba sin(]05)

i (—H) Label —“Anhe,\/
b= 6.2 - sin(105) - Write formula \/
sin(33) _ —3 Plug in numbers
L = = 10.44104977 (Q:!O."f’fm solve v
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Do question 3 or 4 but not both. If yo\ﬁvdo-both the best one will be
marked.

3. Statistics. Determine the mean, median, and mode of the data set.

{1,3,4 4,8 4 12)

Mean /X = 5—"!'79 x = i_’)c 34/? 5,,“1[

ST IO S

has to be a central value,

l"'c‘i-JFUl ? somewhere between 1 and 12
Mode = < sl D_F-Leh
~ { So why did some say the mean
\ was 37 ???
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4. Statistics- Percentile Rank. Josh was writing a qualification exam for
a desirable government job. He got 45 marks out of a possible 78 marks
on the exam. 345 applicants wrote the exam, 288 got a worse exam score
than Josh, and six others had the same score as Josh.

a. Determine Josh’s mark on the qualification exam as a percent. ( g '-]'.G‘izu )

b. Determine Josh' Percentile Rank on the examination.

c. Explain (using proper grammar) whether you think the exam was
likely easy or difficult.

o) Exam:  YPh87m 5 %= 5H4q 5 Bram marhs ST69 <G00y
K PR= (B+ AlE), 10g = @‘ﬁlﬁ(—ﬂ oo = D”'Js = 34,49

c. It must have been a pretty tough exam 7[ 45
")
if a 57.69% is one of the top 15% of marks v C ﬁu%d q Qs‘é o
Tooh P
M %8 [ower 0=53% Ner 857,
PR ggu L
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Do question 5 or 6 but not both. If you do both the best one will be

marked.

5. Problem Solve — Use a Table. A frog is on a lily pad, it eats one fly on
the first lily pad. It hops to a second lily pad and eats three more flies
than eaten on the first lily pad, then it jumps to a third lily pad and eats
three more than the previous lily pad, and so on, so that at every lily pad

it eats three more flies than the previous lily pad.

Complete the table:

|
Slow and steady .
nS‘teF by Stﬁﬁ

Lily Pad

Flies

3
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State)the answers to the following: (1 mark each)

-

How many flies total will the frog have eaten when he has eaten the , I
ies on the 8" lily pad? Answer: Ak T4 well have a otol ofGa f/es’

L
b. On which lily pad will it have eaten its 50" fly? Answer: @
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6. Problem Solve — Make a List. Karen has two quarters, two dimes and
a nickel. List all the different sums of money she can make using only
two coins.

ﬁ Probably the S5th time we have done this question!
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combination with Nickels N ) N I



Do question either 7or 8.

If you do both then you can get extra bonus marks

7. For the Regular 7-sided
Heptagon determine the measure
of:

a. central angle beta (B) j}u Sl LP)

b. vertex angle alpha (a) = 13.3. g}

&) 360/ - '3(90/_:3-_— 5,43

C% ‘Sif-f

‘9 D {EVMLV\C_OQI.
s Sum of all the verfex m«jles > (H“;l)’/ﬁo K
5150 >0’
ECAC-‘\ ;Vt;lu'\ftd{blﬁl VE,VLﬂ)t’_ th le

= Cioo/q, = (138, 'o—cj




8. For this irregular 10-sided
decagon determine:

a. the sum of all the interior
vertex angles [ 440®

b. the number of diagonals
that cut across the decagon.

fO Sum r.na vErf_exanclILS = (h-&)#(agb i} o—
= (fo-)18e" =(J 40 1%
ne(h-3) _ joe(lo-3)
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BONUS QUESTIONS
(Try them! Itis possible to get 150% on this quiz) ] 1.
S th Euclid u?;h

BONUS: Euclidian Geometry (1 mark each)
rules’

| %0°
- (D= 40° since it
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Bonus - Probability.

A bag contains 4 Green marbles and 8 Red
marbles. Determine the probability of drawing
a Red Marble. [Prob( Draw Red)]. Express
the answer as a reduced fraction and as a %.

_Hof Green _ i
P(G"'C‘Gh) aﬁ-’?—ofaf - /;)\

1 TPy = IR -




Bonus: (2 Marks)

Determine the sum of the counting numbers from 1 to 40 y now Since
. 'ES'
s about unr
Have dr:::r:hfuauk for a pAHE™
septe

L 434+ G 4144 bt - - 3343843940 = ?
¢

S“P:- Hern ??

How many paired up 41's will we have? a0

.20 (330



Bonus. Conversion (2 Marks)

Convert two weeks into seconds. 2 wk = !;m.lcoo'sec F;?C,o'ib’
Most Legical way o do ,;{;! )

Done his

= /} 20T gale
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Using a Formula. (2 Marks)The formula to convert degrees Celsius [°C]
to the American degrees Fahrenheit [°F] is given by the formula:

°F = §x°c+32;

Convert 25 degrees Celsius ( 25°C ) into degrees Fahrenheit °F:

25°C = i 1y ACAIHNTE
- ﬂ: -9
OF = %-(&5) +31 n : _-_:
OF = &5 +23 T F% 13 F-’“_-_-- ;faSc
asec = FFF : o
0- J_ »
| [k
r @ c

@
)

5
N



Bonus - Using a Formula. The formula to count the total number of flies
eaten in the question above is given by:

S, = E[Zal + (n—1) »d], where Snis the total sum of flies eaten, a1 is

the number of flies on the first lily pad, n is the number of the lily pad, and d
is the amount by which each successive lily pad’s fly count increases, d = 3

in this case. o
This is Grade 11
In our case: S, = E* 21+ (n—-1)*3] , Pre-Calculus stuff

evaluate that formula (plug-in) for n = 15 to calculate how many flies were
eaten total, Sp, after the 15" lily pad.

After 15 Lilly pads the frog has eaten a total sum of ’530

I-f «auu. Wwaprna huou l\lld Mllhet

+i-8 -n'.ﬂrnulﬁ ) G.Sh-_

flies.

Just Plug into the formula!



